FTHOFEETHHDFEDHITRE
1. — R ORR
(1) BATRR

BA
(BEAI: FH:%)
SH6FEEFHEEE
5 X5
EE) E WA | IRAERE | URAZE
1. it 8,785,220 | 9,025,220 226 | 9,024,253 100.0
2. K BE 5 & 285,930 265,930 0.7 273,111 102.7
3.#M F B X f £ 7,000 7,000 0.0 4,082 58.3
4. BB B & X F £ 47,000 47,000 0.1 57,184 121.7
5. RXFREMBIIRfGE 41,000 48,000 0.1 86,971 181.2
6. EABEBRXMN S 158,000 184,000 0.5 183,815 99.9
7. FHEE R XMNS 1,770,000 1,680,000 4.2 1,679,818 100.0
8. JLIBZHMARKfT£ 87,000 87,000 0.2 86,692 99.6
O BEMEAXRMTE 35,000 43,000 0.1 39,840 92.7
10. # 7 #5 6l X 1 £ 295,000 306,899 0.8 316,083 103.0
1. # #F X 8,260,000 | 8,550,580 214 | 8,674,606 1015
12. *’Efé;‘qﬁﬁﬁm” 6,000 6,000 0.0 4,870 81.2
13. 7#EERUVAES 19,363 8,635 0.0 6,664 77.2
14 FRAHEUVFHH 397,794 394,596 1.0 330,691 83.8
15, E X H = 5,726,574 7,784,703 195 5,966,556 76.6
16. & * H iy 2,232,874 | 2,566,887 64| 1,901,869 74.1
17. Bt I3 Iz A 28,604 28,604 0.1 40,640 142.1
18. & B % 847,510 1,095,710 2.7 1,047,196 95.6
19. #2 A iy 1,343,050 | 2,404,296 6.0 876,604 365
20. #2 2 iy 20,000 406,706 1.0 406,706 100.0
21. § IR A 822,601 927,221 2.3 261,833 28.2
22. & 3,065480 | 4,102,613 10.3 742,780 18.1
% A a B 34,281,000 | 39,970,600 1000 | 32,012,864 80.1




(B FH: %)

THeFEEFHEE

5 X5
=1 RE BRtE | XZHEEE | XHE
1. & = =1 273,616 269,701 0.7 264,738 98.2
2. % & 3,547,100 | 4,026,700 10.1 2,901,131 72.0
3. B 4 & 12,029,385 | 13,919,642 348 | 12135274 87.2
4. f& % = 3,319,247 | 4,078,466 102 | 3,259,546 79.9
5 3 & = 6,270 11,270 0.0 9,707 86.1
6. B % K E % B 440,559 494,759 1.2 328,858 66.5
7. & I Z 921,256 989,044 25 701,413 70.9
8. * PN g 5,004,731 5,574,785 13.9 4,296,989 77.1
9. i ;] 7 1,270,105 1,440,007 3.6 1,200,892 83.4
10. # £ =1 3,385,854 | 3,951,556 99| 2948198 74.6
1M1, K F # B # 50,000 850,381 2.1 226,466 26.6
12. 2 " b= 3,848,741 3,857,488 9.7 3,857,486 100.0
13. 3 2 tH £ 174,136 500,738 1.3 472,263 94.3
14. % & 7 10,000 6,063 0.0 0 0.0
i H a H 34,281,000 | 39,970,600 1000 | 32,602,961 81.6




(2) —FEAZ DR

(Bfr:-FH)
R = %8 5,500,000
SME3ASTHRAED 0
B A = &K =
(3) MROFHDEHERKR
(B FH:%)
SH6EEFTHEER
] =
=L HEt YN --t] IR AR
7] R 57 3,479,800 3,649,800 3,613,524 99.0
H
B & & E M 3,868,000 3,938,000 4,020,487 102.1
B B & ®EH MK 239,500 239,500 238,524 99.6
m = EF Z B 537,000 537,000 503,990 93.9
A o] i 180,020 180,020 164,711 91.5
] o EH OB & 477,000 477,000 479,116 100.4
B it 8,781,320 9,021,320 9,020,352 100.0
M M M
1 A = Y 143301 147217 147201
M M M
LI O R/ 304,896 313,229 313,196
I VEREEREELD)
A | 61,279 A
H F O 28,801 tHE



(4) BAEDIKR

X o SM7E3A31TBRES m R 1 A & Y
+ th 4,463,939 m 72.85 m
& ) 344,682 m 562 m
H &I & 5 #E A 705,396 FH 11,511 M
& 1 54,702 FH 893 M




2. FRIESETOEITIKR
(B FH: %)

THMeEERARL FEEE
X Z)

L4 &t IRAKE | URAZE| ZHFE |XZHE

B R B R & 6,748,700 6,776,855 5,863,950 | 86.5 6,157,232 |  90.9
ZEHEREER 1,242,200 1,235,439 1,186,991 96.1 1,172,623 | 949
T B R K 7,322,800 7,515,001 7,114,750 | 947 6,714,821 89.4
mELKERMER 143,400 143,400 118,802 82.8 106,405 74.2
mEILHRREMER 209,600 214,548 200,031 93.2 190,708 | 88.9
&t 15,666,700 | 15885243 | 14484524 912 14341789 903




3. EXRFFOHITIKR

(1) FiREESEH
(IR &FAIUN)
7oA (B FF: %)
= N SHeEEFTEEE
ES 7
L4 HET IR AR TEEE IR A&
] 3 = 8,628,175 8,646,043 8,101,204 93.7
X H (Bfi:FH:%)
x N SH6EEFTEE
X 7
=L HEt PITERE ZHE
& 5z = 8,784,175 8,878,687 8,888,995 100.1
(BEARMIN)
A (A TP %)
= N SH6EEFTEL
X 73
L4 HEt IR AREEE IR A
& 5z = 1,360,526 1,386,754 1,295,194 93.4
X (A TP %)
= N SHeEEFESE
ES 73
L4 ;& HITEEE X HE
] 5T =S 1,701,225 1,659,015 1,628,705 98.2




(2) KEFEERF

(IR ZEAIIR )
RA (Bt FF: %)
= N SHeEEFTEE
X 73
=L et URARESE IR A
7K B = 2,502,171 2,516,816 2,400,979 95.4
Xt (42 FF: %)
= N ST6EEFHEE
X 7
L4 HEt iTKER THE
7K B = 2,459,142 2,488,971 2,313,884 93.0
(BEARKINE)
A (842: FF: %)
= N SH6EEFEEE
X 7
L4 HEH IR AR ERE IR A
7K B = 982,009 1,063,155 780,223 73.4
* (B4 FH:%)
= N SH6EEFEEE
X 7
L4 HET HiTKER FHE
7K B = 1,688,558 1,779,438 1,515,008 85.1




() FKEEXESH
(IR ZEAIIR )
A (4 FH: %)
x N SHOEEFTEE
X 73
L4 [Et IR ARTERE IR A
T K E = 2,464,221 2,465,414 2,294,880 93.1
X i (4 FH: %)
x N SHOEEFTEE
ES 7
=L)) et BT FTHE
T K E =H 2,197,019 2,228,078 1,917,533 86.1
(BEARRILE)
A (B4 FH: %)
x N SHOFEEFTEE
ES 7
L4 et IR AR ERE IR A
T K E =H 4,083,310 4,615,021 1,388,441 30.1
X i (4 FH: %)
= N SHOEEFTEE
X 73
L4 HEt BITEEE FTHE
T K E = 4,918,381 5,408,152 1,920,045 35.5




4. BIFEERBS FHORITRIR

(O —fREt
(BifT: F: %)
25 = = % & FHE | LHFHE | xHE
1 WHEER * %X B 7 o# # B X 8,905 8,905 100.0
I i b2 T L % & = *®
2 wBR Lage (R & 0 ) B & o B B N 5 ) s212 s212 1000
& T4 F N Y R T L BB
(K & O IR A ) 16,918 15,565 92.0
i % & X Kk # O &
N R G W)ty B og| 00| 60 7-‘
3 ReER l% S ZE Lj’f E §$ X i z 5,786 5,786 1000
[P i % & X & # 0 &
2 REEUE C ey et s = % 15,250 2,169 142
1 RipwE FERIDFI9ANLRATIVF L BEEEEES X 2,000 14 0.7
mMEBHMREIOOEANY —FTBR2xs B X 57,298 15,855 217
4 WEE 2 REHEE
;3 B o % ®B A o] +r 5 % 1,760 1,760 100.0
3 ERE BHEELLYE—BEY—T L AHEBEX 12,100 11,660 96.4
6 BMKEXHE |1 BER £ 8% K R K B F B R & N K F ¥ 3,852 3,852 100.0
E] E] & & ES i ' % 14,080 12,375 87.9
! BI® S S 3 i B AR IS v F o7 — L F X
A v -
7o I (® o 7 v 8 0 v 4 > @ g 5| 180 60| 1000
2 BAEE m B K W oE B R KB 5 B # F X 9,000 8,989 99.9
mE A% 605 RWMEREE X E X 68,440 68,440 100.0
MECHEI447TEREBRIRE X (2 BT 1,891 1127 59.6
(ﬁ EC® é 63 % ‘ﬁ;.& MBI ;&‘BT 2 W % % 19,900 19,725 99.1
(ﬁi %D f 45 ﬁ o :lf ' Eﬁ*ﬁ * % 22,400 21,687 96.8
3 3 mO#E D ¥ 485 K 4N E B B B F OE
2 ERBRE C ol w8 2 % @ ®B 5 1. 8 ) 11,450 3,200 279
BREARFALES RS X (BREBERE - HE/E) 33,800 31,200 92.3
fg %E’E & & ﬁfé ﬁ %117': ﬁ“ %% 3 gﬁ % 92,900 85,416 919
il E4 & * Ll 1t it R E
A I R AT 42,238 38,806 91.9
BRRFH LA EXFT E (VY FEH) 4,100 3,666 89.4
s W O H B £ W ® T T % 3878 3,668 946
t B OF OB R B K T X A #A £ 2,088 2,088 100.0
MEERRRADEREREX MERRRMNLESEHRTE) 415,325 414,214 99.7
m B R R R A @ i B B B F X
(mEERRBTHREERE IS (BETH))| 2| G 2001
moB¥ OB R R B 3 & B B fH F X
o irm (MESRRBTHRSRRTF (RHBRBTH)) | O 072 1000
B R R R & @ i B E O F X
MERRRBHHRERR TS Bammrs)) | 000 10160 1000
m ¥ OB R R A @ & B ¥ fF F X 28.740 13.673 476
(NBEERRERTHHMEERCRAMEBZH A RETE) | i )
m B R R R B @ i % B O F X
(mMEBRR® TEaBBEETE)| O 4 00
£ m B R R R B @ i % OB O F X
SOETHER | nupsRimrnsessEssmaTs)| 00 1 00
m B R R A 3 % % B @ F X
(MEARREETHTBBERT EaGaEEs) | 00| 00| 100
m B R R R B @ i B OB O F X 9727 9727 100.0
(MERRARSE TR IR EH TR EREEELE) | | i}
M E OB R R B 2 f B B G OB K| 0 50 o
(MERRREETHHEREH IR ERTEMTE) i} .
m B R R R B @ & B ¥ O OF X 1533 1022 66.7
(mMEHTHEEEERL > I REBMMET H) ! i .
HHEEEHMSFEEE (L PERBEER) 1915 1,912 99.8
R’ =4 # #® x® & a 8 E 19,191 19,191 100.0
C & % ) & # 2 O F ¥ 46,725 45,350 97.1
ES IJ-I =] A 2 B & = ES 14,705 14,104 95.9
# # # bl % & I % E S 2170 2170 100.0
6 R B O£ B W OB & B & # F ¥ 244,858 244,858 100.0
HoOox B OH OB B®W R B A # % 1,628 1,628 100.0
& k] o) I3 ES 3 i F3 35,586 17,938 50.4
9 beliE o 1 blig
bd = 1] % & b3 @ ES E 1,020 1,020 100.0
g % AT ﬁi& i &%ﬁ% B (IEI Ao ; 5 B $) 1,045 1045 100.0
mNoFE B O 4 L oF KX £ FOE 21,551 20,042 93.0
2 INERE BE N R B A ES E A KB E R 5,296 4,180 789
10 HER B owh o2 B N E B OB oW B E % 89,800 80,836 90.0
3 PR E oM O % & H E ®w B F % 155,054 150,334 97.0
6 REFEER F/3 23 7 - )2 -3 & %= ¥ 17,710 17,710 100.0
1 %f%jggﬁg #* & b9 = % 18 = *® 56,512 24,112 427
EBRKEHRERBEEX(HFY -BARISE D) 23751 0 00
2 PEM e muEERFE(EBR-mAIE S|  139| s 870
1 KEEEE WoOom B $H ®E oK F O# 1B F ¥ 59,830 46,065 770
3 fggé‘% N & ® B K% F O # 18 = ¥ 8,250 8,250 100.0
o COREMER 1w = 2 om % x ® @ om F x| sw| ane 590
a b 2,488,580 | 2,192,350 88.1
X% = | k- 1 FHEE XHFE HHE
i 2 ® B B wHEER £ E B K & £ X B 8 ®,W B F X 47,898 47,886 100.0
& " TR L @ ) E 25 5 ®
LT REEBR| 2 goenn |EmuEaEBF R (LG RRRBDAMA)| 07| 8088 979
& E 136,622 134,724 986




(2) #RI=5

AIFEEEES FREEHYFEE A,

() tx£Et
el 2 s (B F+M:%)
X5 S i E=Y E 3 % |F H £E| XHFEFLE | XHE
MANE D EE FRABIEE
EHREOBE 28 AMETE |1 RBREE | BRRYRI—42EH | 63510 1286 | 20
12 & % #& # ® E S
KEFESE (B FH:%)
X5 =% pi| = ES 2| F & #| $ITHEE | THE
BARUGEKERE | 11881 10378 | 873
MANEREE
F26FDWE |2 BEARMIZH 1 BERUERE
12k B5Ri% .
?;E 7k7k " &éﬁ S| 47009| as079| 979
A NE R EE
EOREEOAD |1 KEEEEM |12 £ &8 B S HAAKIEE 1551 1551 | 1000
RE (K Bigi#s
TKRKEZXSE (B FH:%)
X5 =% pi-| -4 E S % | F E | PITHEEE | IHE
%‘; i ; % ;’g % § 257,062 | 227458 | 885
:‘;; fg;;’?é%ié 362,325 7239 | 20
A NE D EE
F 2% DR E2 BERAMIH 1 BERUREE
I & % #& # = .
iy %”‘E’E Ef § 50362 | 56562 | 953
INREE S B K
m ®  H % | 51256| 47663| 930
mn | E g KR E
ANELEE . R
pork ok TKESXE s NETKEEZE
EIREIED |1 1 EEEA : 2,640 2640 | 1000
e & EEH




5. HEDIKR

(Bf:F+H, %)

X 7 SHM7E3A31BRES B oAk
“m % - 345,207 0.5
K & - 570,167 0.8
& & 2,160,892 3.2
B O K E X & 267,098 0.4
] & 965,199 1.4
T & 5,879,448 8.6
i H 3] & 847,186 1.2
& # B (T 3,980,621 5.8
A iz ih & 90,212 0.1
) B B & 2,103,790 3.1
a8 6 w #Hl & 5,810,741 8.5
X F B 1B & 189,651 0.3

Z ) fth 13,115,919 19.1
H 36,326,131 53.0

& wm Bk T X & 5,322,325 7.8
§ K OB F O F & 12,983,552 18.9
i T K & F ¥ & 13,940,915 20.3
a &t 68,572,923 100.0

B B B &' B € 17,106,370 24.9
gl B E R £ & € 0 0.0
A BEETRERBILE 1,173,856 1.7
% m B | T = 26,117,203 38.1
Al A asmAS RS 22,200,850 324
Z ) th 1,974,644 2.9




